30/06/2016 College Lecturer Exam - Chemistry-II

Rajasthan Public Service Commission - 2016 o
ues: 150

Paper : Chemistry-I1 Time: 3 Hours

Ques # :1

Electronic Configuration of Europium [Z=63] is
D [xe] 415652

2) [Xe] 47 6s2

3) [Xe] 417 5d1652

4) [Xe] 4f86s]

TR | Z = 63 | F1 goTeio [@eara § -
D [xe] 415652

2) [Xe] 41 52

3) [Xe] 4" 5d"6s2

4) [Xe] 4%6s’

Ques # :2

Actinides which exhibit +7 oxidation state are-
1) U, Np

2) Np, Pu

3) Pu, Am

4) Am, Cm

HFeaATasd +7 ITFHIHIor FTEAT IERIT FA & -
1) U, Np

2) Np, Pu

3) Pu, Am

4) Am, Cm

Ques # :3

Which expression is used to calculate magnetic moment of Lanthanide ions ?
D= Jyn(n+2)
2) p=gyn(n+1)
3 N R
) u=gIT+1)

4 u= 2/n(n+1)

AFAATTS A=A & FFIHIT ATt T0TAT 8] e ST T ITAT FIA ¢ 2
D H:ﬁ.,."m)
2) u=gyn(n+1)
3 u=gJT+1)
4) Uzzw“m}

Ques # 4

Which of the following ion is not paramagnetic ?

1) CES+
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2 ppr
3) Nd3+
4

) Lu3+

Frenfaf@a & @ wlaar e srTFahT Agi 8 2

1) ce3+
2) pp+
) N
4) Lu3+
Ques # :5

Electronic configuration of Curium (Cm) [Z = 96] is -
D [Rn]5f 6d? 752

2) [Rn]5f8 752

3) [Rn] 5 62 752

) [Rn]5f10

FIRIA (Cm ) [Z = 96] FT FAFCIA A=A § -
) [Rn)5f 64" 752

2) [RN]5% 752

3) [Rn]5f 602 752

4) [Rn]5f10

Ques # :6

Member of Lanthanide series which exhibits +4 oxidation state is -

1) Ce

2) Pm

3) Eu

4) Er

drdaTas Aft T TEET AT + 4 JHTFHRIOT HTTYAT Y RIT FIATR -
1) Ce

2) Pm

3) Eu

4) Er

Ques # :7

Which of the following ions is colourless ?

2) D‘_l,,l"3+

4) Tb3+

INfAfET & O Flaar A 3T T g 2
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D Eud
2) Dy3*
3) L3+
) Tp3

Ques # :8

The formula of Inorganic benzene is-
D) csClg
2) BoHg

2 BsN3Hg
4) BaN3Clg

yrrfafas Sl wFTEa ¢ -
1) CgClg
2) BoHg

3) BaN3Hg
4) B3NsClg

Ques # :9

Which of the following statements is correct for diborane ?
1) sp hybridization, Linear structure

2
) sp? hybridization, Banana bond

3) sp® hybridization, Banana bond

4) sp hybridization, Banana bond

sEaRT ¥ R AR A sl Faaaw g 2

D) sp entor, Y6 TR
2) 5p? HaoT, FEET Fer(EAET Fu)

3) sp® wavor, FEdr Fu(EeET )

4) sp HIUT, coll T ( FeATeAT %7 )

Ques # :10

Carborane is formed by the reaction of decaborane-14 with.........
1) methane

2) ethane

3) ethene

4) ethyne

SHTERT - 14 FY FAFARFAT ........ T T W FERA Grod et & -
DF-tir)

2) wde

3) wefieT

4)1:1-2;”??;[
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Ques # :11

Borazine is.......... reactive than Benzene
1) less

2) more

3) equal

4) very less

Ques # :12

Total number of (3c-2¢) banana bonds in diborane is
1) Zero

2) One

3) Two

4) Three

STSAR 3 (3¢ - 2¢ ) Fgell (FATT) TG Y Fel HEAT S -
D o

2) uss

3) &

4)<—_n7_r

Ques # :13

Silicones are-

1) polymer compounds of silicon and carbon

2) polymer compounds of silicon and hydrogen

3) polymer compounds of silicon, carbon and oxygen
4) polymer compounds of silicon, carbon and hydrogen

RfRTEa -

1) faforee 3R ree a'ngoldn i

2) faforenet 3R grssaTe o SgeTh i

3) fafea, F1ee 3R SfferdeT & agor A
) Taforet, e 3R grEsaT a;dgddo i

Ques # :14

Fundamental unit found in all silicates is
D sio,*

2 sio,

3) §i,04%

9 Sig044%
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Tt Fafarrew & arit et arel 3R sTE R} -
D sio,*+

2) sio,

3) si,04%

D 5140446

Ques # :15

Which of the following statements is correct for XeF4 molecule

D' sp3d? square planar
2) spd. trigonal bipyramidal
3 d2sp? octahedral

4 sp3d? square pyramidal

XeFy 307 & fov sreifaf@d & & Fiaar faa g7 & ?
1) sp?d?, get gaada

2)  spd, Bl gflafat@s
3)  d%sp?, semerdhRr
4)  sp3d?, get fifada

Ques # :16

The Geometry of XeFs is -

1)  Tetrahedral
2)  Pentagonal
3)  Octahedral
4)  Linear

XeF, &r sarfadr & -
D aqswedr

2) Wﬂ?ﬂ'&

3) rschahI

) Y

Ques # :17

Which ofthe following statement is correct for ICls™ ?

D' sp3d hybridization linear
2) sp®d? hybridization, square planar

3)  sp?hybridization, tetrahedral
4) sp3d? hybridization, octahedral

ICl,” & oiv Teafeiad & § idar sad g ¢ ?
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D spd T, TERT
2)  spid? dawur, a9t EaE
3)

Sp® HHLUT, AJSHAhL
4 sp3d? FEOT, ISEHARRT

Ques # :18

The dimensions of unit cell are
a=bzc a=p=y=90°
It belongs to the crystal system -
1)  Cubic
2) Tetragonal
3) Monoclinic
4) Hexagonal

Uchdh hiTSadT &l GA &

a=bzc a=p=7=90°

o5 foheed oF & @aET & -

D i

2 gfaAcETeT
3)  udheranaT

Y wewhy
Ques # :19

Which of the following crystals does not exhibit Frankel defect ?
1) AgBr

2) AgCl

3) KBr

4) ZnS

nfafla freeal F siaar Faa Qv weRia adf axard 2
1) AgBr
2) AgCl
3) KBr
4) ZnS

Ques # :20

To make Ge a p - type of semiconductor, it is doped with -
1) trivalent impurities

2) tetravalent impurities

3) pentavalent impurities

4) divalent impurities

Ge &Y p - YR FT 3T 9 & AT 3MABT FAE -
D) Fraairet srerfe
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Ques # :21

Which of the following crystal defects decreases density of the substance ?
1) Interstitial defect

2) Frankel defect

3) Schottky defect

4) F - centre

reNfATET & @ Fla1 G 9gTd & gaica A FA FIATE ?
1) 3tcrenrelt g

2) Shehel 1Y

3) emedr &y

D p e

Ques # :22

Bragg equation is -
D) 2dsing=nx
2) 2d?sine=n2.

3) 2sine=ni
4) ) n i
2dsing=—
2
ST FHIRIOT R -
1) 2dsingé=nu
2) 2d?sing=nx
3) 2sinB=ni
4 ni
2dsing=
2
Ques # :23

The total number of Bravais lattices in a crystal is -
1) 7

2) 32

3) 230

4) 14

ﬁﬂﬁﬁwcuﬁ'aﬂdm«ﬁaﬁgﬁ'm%-
1) 7

2) 32

3) 230

4) 14

Ques # :24

Total number of atoms in an unit cell of a face centred cubic unit ( fcc ) is -

) 2
2) 3
3) 4
4) 6

TS FehI U (fec) N T FISSHT ¥ Fel WA 1 HEATY -
2
2) 3
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3) 4
4) 6
Ques # :25

The reagent which can be used to distinguish between starch and cellulose is -
1) Tollen's reagent

2) Iodine solution

3) Acetic anhydride

4) Fehling's solution

FeTe 3 Aol Y G FF & FrT ST o v ey e arfd § -
D) aforet siffess

2) ST AP HF

3) Tt UeeTsges

4) AT et

Ques # :26

Glucose on oxidation with concentrated nitric acid forms -
1) Gluconic acid

2) Oxalic acid

3) Malonic acid

4) Saccharic acid

TR e AT IF & HTY HTFHNHIT et I FATeT §
D) sememifore 3

2) 3iterdforen 31Fel

3) Aenfares e

1) A$Rep 35

Ques # :27

Invert sugar is -

1) Sucrose

2) Mixture of Glucose + Fructose
3) Maltose

4) Lactose

g AT -

1) W

2) TSI AT Shere Tt T AT
3) et

1) derm

Ques # :28

Which of the following is a thymine base ?
1)
H-N
0~ hl‘l
H
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2) MH2

Q

4)

oA

MRRTA TR IRAT R -
1)

3)

O

4 NHz2 ¢y,

Ques # :29

Which one of the following is a globular protein -
1) Collagen

2) Myosin

3) Insulin

4) Fibroin

senfaf@a & ¥ slaar MAFER DT § 2
D) srerste
2) ArET
3 gegfers
?) wrgsiget

Ques # :30
The bond present between glucose units of cellulose is -
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b o. - glucocidic

2) P - glucocidic
3) - glucocidic

4 5- glucocidic

e Y TAFIH FHTEAT & ALY IUTPYd raer
) o-meseass
2) B - eSS
3) - reTsEETER
D 5 - rasEETSEY

Ques # :31

The sugar moiety present in DNA molecule is -
1) B-D -2 - Deoxyribose

2) B-D-Ribose

3) B-D - Glucopyranose

4) B - D - Fructofuranose

DNA 3707 3 qrefY STTet arelY e refer sis 8 -
1) p-D-2- SEEIREaN

2) p-D-TEE

3) - D - oS

4) B - D — FaARRAE

Ques # :32

Piperine on hydrolysis by alkali gives -
1) Piperic acid

2) Piperidinc

3) Piperic acid + Piperidine

4) Piperonal

8T EaRT STel e o1 AR &ard -
D) R 3rFar

2) ufide

3) R 315 + ROREe

4) OTeTer

Ques # :33

Nicotine on oxidation with chromic acid or potassium permanganate gives -

1) Nicotinic acid

2) Nicotone

3) Nicotine sulphate
4) Nicotinamide

AR FAF e 37rUar NERTH WHviee F Ty sifFdaor waary -
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D) Senrdifae 3
2) el
3) AP Tethe
4) eIReAATES

Ques # :34

Cholesterol on oxidation forms -
1) Cholestanol

2) Cholestenone

3) Cholesterase

4) Cholestene

FIOEERTer JHTFHIFIT R FATaT & -
D) srereeatar

2) e

3) FrerEerd

1) FrerEdT

Ques # :35

When acetoacetic ester reacts with phenyl hydrazine, it forms -
1) 3 - Methyl - 1 - phenylpyrozolone

2) 4 - methyluracil

3) Ethyl acetate

4) 1,3 - butanediol

TefterTe R v Td e ETsEoieT 1 3 @ awar -
D 3 3fer- 1 - SRaafeieT

2) 4- AR

3) ufdrer vfiee

4) 13- sgeasTssitar

Ques # :36

Malonic ester reacts with ureain presence of

POCI; it gives -
1) Luminal
2) Crotonic acid

3) Barbituric acid
4) Adipic acid
Felifard weex POCI; i 3ufeafd & IR

T yETar R ar g -
s ekl

2) w3

) et s
4 ofefw 3Fe

Ques # :37
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Active methylene compounds react with aldehydes

in presence of base piperidine to give o, p unsaturated
acid. This reaction is known as -

1) Perkin reaction

2) Reformatsky reaction
3) Knoevenagel reaction
4) Claisen reaction

afga Afafes Aife, ars e & safaafa &
Ufesgss & @GR &R o, P 3EdTT IE & B,
o5 wfafmar Feerdr § -

DR EGEICIER

2 Rropaferhr AR

3 AReee it

1 Forele AR

Ques # :38

The reaction intermediate formed in Claisen condensation is -
1) Carbonium ion

2) Carbene

3) Carbanion

4) Free radical

Fololel HTeT A detet aTalT IHFATHAT Aegadi ¥ -
D) sprefforas 3mae

2) Freter

3) el

Y g e

Ques # :39

Gilman reagent is -
D R,culi

2) R—Li

3) R—Mg - X
4) R,Si

freraTeT rfAFA+w & -
) R,Culi

2) R-Li

3) R—Mg -X

4) R4Si

Ques # :40
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A reaction Is :

CeHsMgBr+ CHy— CHy 22 4 A

/

O
Here A &-

D CoHsCHLCHO
2 Cg Hs CH,CH,0H

3) CgHsCH,OH
Y CgHsCHO

EIEIER

CeHsMgBr + CHy — CHy 22 A

/

qAB- ©

D' CeHsCHLCHO
2)  CgHs CHaCH,0H
3)  CgHsCH,0H

4 CgHsCHO

Ques # 41

0 - Bromofluorobenzene reacts with lithium amalgam in presence of furan to form 1,4 - epoxy - 1,4 -
dihydronaphthalene. Identify the reaction intermediate in above reaction.

1) Carbonium ion
2) Carbanion

3) Benzyne

4) Carbene

o-NANFARIIToNeT T T 3reverrer & ary wyer $1 3ufeyfer & sfafera 3% 1,4 - $avard-1,4 -
SIS ST T § | 3T ATRTRAT 7 Fegad! «) ggafaw -

D) refferas smaer

2) spreuterge

3) ot

4) reifer

Ques # :42

Which of the following esters on reaction with Grignard reagent and subsequent hydrolysis gives aldehyde ?

1) CH;COOCH;
2) CH;COO0C,H;s
3) C,HsCOOCHS
4) HCOOC,Hs

frrafaf@a veet i fiear sffwsis & v AfHfFar aur aqmed sTe 3rawes & a1g ediess

COIGE
1) CH3COOCH;
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2) CH;COOC,Hs
3) CoHsCOOCH;
4) HCOOC,Hs

Ques # :43

The shape of XeOsF> moleculeis -

1) Trigonal bipyramidal
2) Tetrahedral

3) Square planar

4) Square pyramidal

XeOgF, 3197 T |=ell & -
D Henia slaft@E
2) TSR

3) gt gHaT

1) T A

Ques # :44

Cement, Ceramics and Glass industries are based on chemistry of

1) Silicates

2) Diborane
3) Silicones
4) Borazine

Waee AlawRrea @A) qur s F 3g@hr

D) fafosea
2) srEEn
3 fafee
S crcic)
Ques # :45

Conversion of Ho5 into Colloidal solution of
sulphuris possible by following method -

1) Oxidation

2) Reduction

3) Neutralisation

4) Hydrolysis

HoS & Shielisar et d ®acRoT eifafaa

afr d e g -
D siferdieor
2) AT

SO ki ic o)
4) TAHTECT

Ques # :46

Which of the following properties is not related to colloidal solution ?

1) Electrophoresis
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2) Tyndall effect
3) =1 my parficle size
4) Diffusion

TR A Flaa aor FrengD e @ FERa A |
D) faegaeor-sads

2) RRusd AT

3) <1 my HThid & HoT

4) fgToT

Ques # :47

The efficiency of coagulation depends upon valeny of cation as follows -
1) Independent of valency

2) It decreases with increase of valency

3) It increases with increase of valency

4) Randomly changes

TeheeT T &THT YTI T TASThdT W AFAfai@d YR § sk 3T -
D) garsterar @ senfaa war g

2) TATSThll d¢o7 W HH BT &

3) HATSTdT 9 W IS &

1) g s aRafda g g

Ques # :48

If sodium salt of Acetoacetic esteris heated with I»
and hydrolysed with acid, productwill be -

1) Valeric acid
2) Adipic acid
3) Succinic acid
4) Glutaric acid

gfg vHeTdfes e & |Hifsga daor & 1o
& AT IH IF IF CART oA Hugfed aid

g df 3caig grem -
DR CIREakCac)
2)  ufefe 3
3 afgafaw swa

4) TR 3TFdl

Ques # :49

QOil of hemlock was drunk by Socrates, when he was condemned to death. Identify the alkaloid responsible for
death.

1) Cocaine
2) Morphine
3) Coniine
4) Quinine
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FHT Y HcFes Y Wl &1 & fAT goelsh T el T arm o7 | 39 A F Slerar vedhallgs o,
gfgenfae:
D) sreper
2) Frdfer
3) S
4) gker

Ques # :50

Energy of particle in one dimensional box is -

1) nZh2
E-= >
8 ma
2) - nh
_Emaz
3) nZn?
_Ema
4) Emaz
:ﬂzhz
F RAT STFaTF rF FUT A IATE -
1) n2h?
_Bmaz
nh
2 gt
8 ma
3) n2n?
E=
g8 ma
4) _Emaz
_ﬂzhz
Ques # :51

The time - dependent Schrodinger wave equation can be represented by -

) du(x,
kuﬁ=miﬂ%ﬂ
i
2) -
HWI::I_.I) = iw
ih ct
3) -
ihHy(x,t) = 225D
Ct
4) dw(x,
Hw(x:g_‘) = M

cl

THY - TR TR 0T GHHor sgFd Hr AT TAFAT &

D Huwy(x,t) = fhw
ot
2) A
Hy(xn = VD
ih ct
3 -
: ihHy(x,t) = 25D
crt
4) Hu(x.t) = cwEx:r)
(/1
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Ques # :52

Dispersion medium and dispersed phase in butter respectively are -
1) solid, liquid

2) liquid, solid

3) solid, gas

4) solid, solid

AFE A IR&qor Aregd AR gl fareT yrawar e § -

Ques # :53

Which of the following is not a method to purify a colloid ?
1) Electrodialysis

2) Coagulation

3) Dialysis

4) Ultrafiltration

farfaf@a & @ slad R Fams A g FA Aradie?
D) aga -3mie=

2) Teheat

3)3@37{

4) srfaes fedea

Ques # :54

Eluent strength is a measure of -
1) solvent absorption energy

2) solvent adsorption energy

3) solvent diffusivity

4) solvent mixing index

Tegee AT ATT § -

D) faerraes &1 3raenvor 3517 &1
2) freiren ST 31TRIRITSOT 351 &t
3) faermraes & faaor &

4) e fAsoT Gaeis

Ques # :55

Wilkinson catalyst is used for -
1) Polymerization

2) Homogeneous Hydrogenation
3) Hydrolysis

4) Halogenation

RfeFasT 39 TgaFd g1 -
D) sgelientor #
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2) gATN grSSISTeieor 3
3) Srer3raeresT &

4) Feloteiienor

Ques # :56

An example of sandwich compound is -
1) Ferrocene

2) Phase transfer catalyst

3) Crown ether

4) Clathrate compound

dsf=r 90 =1 3crRIoT E -
D et

2) QTaEAT TATHATCROT 3R
3) fRlie $2 (@131 $)

1) Forde I

Ques # :57

The most appropriate reagent to convert
RCOOC;Hg ——RCH-0H is-

1) Zn—Hg
2) LiAIH,
3) H./Pd-C

4)  Li/ NH; (lig)

RCOOC,Hs ——»RCH,0H

# uRafdd #er &1 8 39gad HFeaF ¢ -

1) /n—Hg

2) LiAIH,

3) Hy/ Pd-C
4) Li/ NHs (liq)
Ques # :58

The following reactionis called -

1) Photocyclization

2) Photodimerization

3) Paterno - Buchii - reaction
4) Norrish type - Il reaction
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weffEa AETRaT Fgendr § -

Ques # :59

Catalyst used in Rosenmund reduction is -
1) Zn—Hg couple

2) LiAlH,

3) Pd— BaS04 (Quinoline)

4)Ni/Hy

AATHTS HITA H Tl Y AT 3UTF & -

1) Zn—Hg couple
2) LiAlHg

3) Pd — BaSO, (Fdlelellel)
4) Ni/H;

Ques # :60

The acid which does not contain carboxylic group is -
1) Pyruvic acid

2) Alanine

3) Cinnamic acid

4) Picric acid

3Tl TS Ieel FelFafahaAg AL & -
1) Rrefaes 3reer

2) verfae

3) fEaifae 3o

4) e 3rFar

Ques # :61

The incorrect statement with regard to differential thermal analysis DTA is -

1) The temperature of the sample is compared with that of inert reference material.

2) The temperature remains same until thermal event occurs.

3) In case of an external event being exothermic, the temperature of the reference exceeds than that of sample .

Y The plot of AT versus T gives thermogram.
fasdrardT feeyor R & Fent d T FuaT ¢ -
D) gfdrest & AT & Jeretr Heal ugrd F AT A FAE
2) ardT geeT glet deh a1 e e .
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3) AT et @l W T T T a1 Taeet ¥ 3TT elar &,
Y AT T & 3@ & st g g &,

Ques # :62

Which of the following statement for DTA is incorrect ?
1) It is not used as a fingerprint for identification.

2) It is used in mineral research.

3) It is used in food industry.

4) It is used in pharmaceutical industry.

DTA d&el® & T 3T FAT ¢

D) gaet adiaTor & 3iTel o1 T AXE SAT E R E
2) g @feret aiter & AT AR R

3) & e e # T AR

4) 58 T 3T H AT FA &

Ques # :63

TGA analysis of CaC,04 + H10 shows how many weight losses ?

1) 4
2) 3
3) 2
4) 1

CaCy04 - Ho0 & & ST T 3regad fhaelr @R &R &7 fe@mar ¢ 7
1)
2)
3)
4)

—_— N W

Ques # :64

In atomic absorption spectroscopy, radiation is absorbed by atoms in vapour state.
1) Excited

2) Unexcited

3) Both Excited and Unexcited

4) None of these

TRATY] LATTOT FIFEREHTY 3, FARFTO...... TATO] GaRT AT 3raeem  sraenfia @t & -
) seafore

2) FieT3editord

3) et SeoTe e HeseAtsrel

Y getat @ IS G

Ques # :65

The most widely used source of radiation in atomic absorption spectroscopy is -
1) Hydrogen gas lamp

2) Hollow cathode lamp

3) Deuterium lamp

4) Tungsten lamp
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ATV FrRYor FFEEFI 7 Jog 7 F TgF @1 aren RfFwor wa ¥ -
1) gregreret ta dFw
2) R S2fis olF T
) ggeRes dFg
4) Eareee e

Ques # :66

Untrue statement about atomic absorption spectroscopy is -
1) It can determine elements in solution.

2) It can determine elements in solids.

3) The use of this technique is based on Beer's law.

4) It can determine all the elements.

AT - TANTOT TAFETHI & aR F 3T FIT PIT AT -
1) 7rg dcat 1 feRoT et 7 = Al &,

2) g dcat 1 fEROT 31 & 9 TeheT &,

3) Ig Teheiieh TR e & yiter o 3menRa &

4) Irg F9f Ieat ot TorefRoT Y FeharT &,

Ques # :67

The value of Hamiltonian operator is -

D' —h o1 ey

2m oy, Gt
2) Ey
3 87 my
4) d
- _,
8x'm Vv

e R E @A TN FTATE 2
D —h 1 op@

27w, ot
2) Ey
3) g7 my
4) "
- _,
— V +V
dT°m
Ques # :68

Cope rearrangement of Hexa - 1,5 - diene is a -
1) [ 1,3 ] sigmatropic rearrangement

2) [ 1,6 ] sigmatropic rearrangement
3) [ 3,3 ] sigmatropic rearrangement
4) [ 6,6 ] sigmatropic rearrangement

¥FHT-1,5 - TS T I TATGATH §
D[ 1,3 ] RearifRe q@fdears
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2 [ 1,6 ] AR Afdeama
3) 13,3 ] ReAIRE goAfd=ara
M [ 6,6 1 RFANS AfGeaTa

Ques # :69

CH, CHO CHO

CHy

The above reactionis -

1) Polymerisation reaction.
2) Substitution reaction.

3) Condensation reaction.
4) Cycloaddition reaction.

CH, CHO CHO

I |
CH + CH ——*

c|||-| CH,
CH.
IRIFT TR & -

) Sgefientor srfafsar.
2) yiree 3R
3) gueter sfEfRaT.

1) ghrIgereT TR,

Ques # :70

5 - Methyl - 2 - hexanone can be synthesised by acetoacetic ester using -
1) Butyl bromide

2) Isobutyl bromide

3) Methyl bromide

4) Ethyl bromide

AR T & 5- AT 2-EFAATT FT HAYT PFAfARAT F 3T A g R -
1) egfeer saitss

2) arsEIegfed sATss

3) AR siATSS

1) v SiATSE

Ques # :71

The oxidising agent used in Baeyer Villiger oxidation is -
1) CgH5COOQH

2) KMnO,

3) HNO;
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4) G[Dg

a3 Rfeer sifFeeaor & ygaa sifedians ¢ -
1) CgHsCOOOH

2) KMnO,

3) HNO;

4) C[Ug

Ques # :72

Common adsorbent(s) or stationary phase(s) that can be used in adsorption column chromatography is/are -
1) Alumina

2) Silica Gel

3) Cellulose powder

4) All of Alumina, Silica Gel, and Cellulose powder

AT JTereioe AT TATAY ( 3reTer ) WAt o Sfereiioor Hiers FIACTTH 7 T frar e -
D) vegfaer

2) Raferer S

3) A T3S

%) T veafHe, Ao ST, vd Aol qr3sT

Ques # :73

Pick up an imino acid -
1) Proline

2) Cysteine

3) Serine

4) Tyrosine

s« 31+ #1939 i -
D) greler

2) e

3) =T

1) erifae

Ques # :74

The oxidation reaction -

H CrOg

>
CsHsN

Is known as -
1) Jone's Oxidation
2) Sarett Oxidation
3) Swern Oxidation
4) Corey-Kim Oxidation
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HiadReT HiEhar ¢

f Cr0Os
- X
CsHsN
FT FE & -
1) Seq sfferdenor
2) ¥Re 3o

3) TaeT 3itereiieoT
1) FR- e 3ifFdeor

Ques # :75

Reduction of m-oluic acid using LIAIH4 gives -

D m-Methylbenzyl alcohol

2) benzyl alcohol
3) toluene
4)

m-Methylphenol

LiAIHy T 3UZT 31 §U merclssh 3
HIggT W AT ¢ -

D matedta wagt

2) 3fSer el

1) mAfEreeere

Ques # :76

For formula of Zeise's salt is -
D KIPH(C2H4)Cl3] H20

%) K[Ptp(C2H4)Cla] Ho0

3) K 5[Pt(C2H4)Cla] H20
4) K3[Pt(CoH4)Cl2] .2H20

STSH F AT HTHA ¢ -

1) KIPt(C2H4)Cl3] H20
2) K[Pt2(C2H4)Cl2] .H20
3) K 2[Pt(C2H4)Cl2] .H20
4) K3[P(C2H4)Clz] 2H20

Ques # :77

Alkynes add on hydrogen in the presence of Lindlar's catalyst to give -
1) cis - alkene

2) trans - alkene

3) alkanes

4) cycloalkanes
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fISaR 3T ) 3ufeufa & veasa gEsloa F AT AN T -
1) goqer vodhie

2) fque - Teehlel

3) uodheT

) HreFoiTeahst

Ques # :78

Reaction of ferrocene with an equimolar amount of acetyl chloride gives a product in which cyclopentadienyl
ring undergoes -

1) Diel's Alder reaction

2) Catalytic hydrogenation
3) Friedel Crafts acylation
4) Hydroformylation

e vl FaREs A TR AT F G AT F W) 3eure Ear § s
ABFAITCISIZEATS T JoId A g ¢ -

D) Sreq-vest-afafear

2) SR gTSEISTei el

3) g or shrred THeehoT

4) grsSrpifHEERToT

Ques # :79
Which of the following is an organometallic compound ?
1

! [Cr(C204)3>
2 -

! [Fe(CN)gI?
3) -

[PtCI3(C2H4)]

) Ti(OC2H4)4

Rrefafle & & S srdenfeas A & 2
D [crca0057

2) [Fe(CN)gl-

3) [PtCI3(CoH4)T

4) Ti(OCH4)4

Ques # :80

o — D — Glucose and [ — D — Glucose are -

1) Epimers
2) Functional isomers
3) Anomers

4) Position isomers

o« —D— T vd B—D — TR ¥ -

D) iz
2)
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[ERIRCRIBICRE])
3) AR
) T gATGTE
Ques # :81

Barton reaction involves photolysis of ......
1) @ — B unsaturated ketones.

2) diazomethane
3) cyclic ketones

4) long chain alkyl nitrites having 8- hydrogen.

Ques # :82

0
CH
TH3 |[ | 3

CHy—C =CH — CHg 4 j}-m-ar——. BrCHz — € — CH —CHga

o=

Above reaction proceeds through intermediate/mechanism -

1) Anionic
2) Free radical
3) Cationic
4) Concerted
0
CHy I CH3

| |
CH3—C =CH — CHs +L_\ /N-Br——— BrCH; — C — CH—CHg
!

I
0

IWRIed Ear afeq gidr 8§ Fegadifeaiata-
1) s

2) HFcHeTH
3) Ferifas
4) afFafaa
Ques # :83

In carbonyl compounds NI(CO)4, Fe(CO)s5 and Cr(CO)g

the hybndisation states of central metal atom are -

D d25p3 dsp®. dsp?
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2)

3)

sp2, dsp?, d?sp?
sp2, sp3d, spd?
4 dsp? dsp®, dZsp3

Fraifeler AtffE Ni(CO)4, Fe(COy5 d2m Cr{CO)g A
heaIaed GTATY] I HOT FaeT HAA: § -
D) d2sp3 dsp®, dsp?

2)

3)

sp2, dsp?, d?sp?
sp2 sp3d, sp3d?
4)  dsp? dsp® d?sp?

Ques # :84

Pyrrole on Hofmann Exhaustive Methylation gives -
Y CHp = C = CH—CH;

?) CHy = CH— CH =CH,

%) CHz — CH=CH —CHjs

4 CHz —CHz — CH =CHy

frYer gTeaATeT qof Ao et T aaT -
D CHy — ¢ — cH—CH3
2) CHy = CH— CH =CH,

3) CHz — CH=CH —CHjs
4) CH3 —CHz — CH =CHy

Ques # :85

Which one is a non-radiative transition ?
1) Fluorescence

2) Phosphorescence

3) Internal - Conversion

4) Chemiluminescence

HisT AT ATA-TAfHIT AFHATE 2
D gfadifea

Ques # :86

Which of the following reagent is used in Oppenauer oxidation ?
) NaBHy4

2) LiAlH4

3) 050y

4) Aluminium isopropoxide
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N & & Fioran 3fAwaiw Il sifedamor & wgaa R smarg 2
1) NaBH4

2) LiAlHy

3) Os0y

4) Yefafaas srsadTEaTES

Ques # :87

A reagent used for cis-hydroxylation of double bond is -
D se0s

2) Raney Nickel

3) LDA

4) 0s0y

STAITEE F HHTET FTSZFH AT A GIF HAFHF ¢ -
) se0y
2) & e

3) LDA
4) 0s0y4

Ques # :88

The reagent suitable for stereospecific reduction
of § — ketoester and (- diketone is -

D Bra - H20
2) LiAIH4

3) Baker's yeast
4) LTA

B- hICITTeX dor - sEdhied & HfaH
fafarse e & suged 3EFAS & -
D Bra - H20

2) LIAIH4

3 g
4) LTA

Ques # :89

Which of the following reagent is used in Arndt Eistert synthsis of acid -
1) Os0y

2) Se0;

3) CHaNo

4) NaHy

IHFAT F Ao H§FE TRANOr A fAraafaf@a & @ wlaar nffwais vgaa Farsmarg 2
1) 0s04

2) Se0q

3) CHaN3

4) NaHy
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Ques # :90

How many nodes are present in LUMO of 1,3,5-hexatriene ?

) 3
2) 1
3 2
4) 4

1,3,5-8FATEIET HY LUMO a7 & fraat Ais @ g 2

1) 3
2) 1
3) 2
4) 4
Ques # 91

Pich up the Chichibabin's hydrocarbon .
l)
2)
PhoC— @:@ — CPhs
3)
A<y

4) Me Me
\

Me Me

el g & ggaifav -
”
2)
PhoC— :@: CPhs

4) Me Me
(=)
Me Me
Ques # :92

The reagent used in polymerisation of isoprene into natural synthetic rubber is -
1) Lead tetraacetate

2) Wilkinson's catalyst

3) Ziegler Natta catalyst

4) Baker's yeast
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ITFENT & FgelHIor & wrpford WRAfa W@ fasior # syaa s g -
D) dg eemfaee
2) RffFae 3cR®
3) SRTeR ATeT 3

4) Jee-ArEe

Ques # :93

Which metal is present in chlorophyll?

1) Fe

2) Mg

3) Ca

4) Ba

FARIEe & Fie o urg 3uRtwa el # -
1) Fe

2) Mg

3) Ca

4) Ba

Ques # :94

The process of conversion of Atmospheric nitrogen

. + . .
info NH4  1on is known as -

1) Nitrogen fixation
2) Nitrogen estimation
3) Nitrogen excretion
4) None of these

ATATERONT ATt T NHy 3mae &
aRafdd el $T TehdT & F6d o
D) srserere freraaer(@ifRidheon

2) ArEersTeT IRHATTST

3) SISl 3cHa

Y g a gl

Ques # :95

Which of the following is used as phase transfer Catalyst. -
1) Urea

2) Crown ether

3) Ethanol

4) Acetoacetic ester

frrafaf@a & & fFl TTaeT TTATaRor 3eRE & T 7 TFd fHar Srar g -
l)m

2) fRlie(h13eT) $2R

3) wditer

4) teieTTERe S T
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Ques # :96

In the reaction :

Zn-H

A—8 LR CH, — R+ H0,
HCL

Awill be -

1) Acid

2) Primary Alcohol
3) Aldehyde
4) Ketone

FTafehar :

Zn-Hg
HCL

AR
D ofas
2)  yrufAe® vedgrd

3 ucdEss
4 Free

Ques # :97
The active species in Tollen's reagent is -
1) Cu*

2) [Cu(NHz)gI*

3) Ag*

) [Ag((NH3)oI*

etereT iR & afrT el @t & -
1) Cut

2) [Cu(NH3z)l*

3) Ag*

4) [Ag((NH3)2l*

Ques # :98

The reaction :

D-Glucose » D-mannose

is known as -

1) Conversion
2) Retention
3) Mutarotation

4) Epimerisation
ENEIEI
D — el > D - #Aam

el o-
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D ofads
2)  yRoT
3)  gfkadfygor gofer

9 9

D oRFEdEr

Ques # :99

Nitrobenzene when reduced with Zn + NaOH gives -
1) Aniline

2) Hydrazobenzene

3) Azoxybenzene

4) Nitrosobenzene

AT Zn + NaOH & T 99T A W aT & -
D) vfaeh=r

2) gregsiaeoite

3) TS

1) AT

Ques # :100

The role of alum in purification of muddy water is that of -
1) Adsorbent
2) Sublimate
3) Absorbent
4) Coagulant

siaer sTer &5 aiverer & Roewd Y sy E -
1) arfreiees |

2) sequTest # |

3) 3raeiee & |

4) Toheah |

Ques # :101

Both myoglobin and haemoglobin are -

1) paramagnetic

2) diamagnetic

3) ferromagnetic

4) none of paramagnetic, diamagnetic and ferromagnetic

AR T RATafae Qe & gradrr aor e -

D stergradra

2) gfagradra

3)&?3@7@@'&
4)W,mwmﬁﬁaﬁéﬂﬂa‘ﬁ

Ques # :102

Which one of the following base is not present in RNA -
1) Adenine
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2) Thymine
3) Uracil
4) Cytosine

farafaf@a & & Flaar sE RNA # sufyaadie -
Dhu-cic)

2) arraeT

3)33@3[

4) argeree

Ques # :103

The structure of [[CI4]_ is

1) Tetrahedral

2) Square planar
3) T - Shaped

4) Pyramidal

[IClg] & == &
D agemadra

2) gt gATNT

3) T-3=R

1) S

Ques # :104

EAN of metal atoms in Fe(CO)s and Coz(CO)g

are respectively -

1) 34,35
2) 34,36
3) 36,36
4) 36,35

Fe(CQ)s @2t Coy(CO)g & WATUIHT & warmd

URHATY] HHATR HAA: § -

1) 34,35
2) 34,36
3) 36,36
4) 36,35
Ques # :105

The unit of the molecular partition function is -

1)

2)

cm

5—1

3) JK=Tmol —1
4) Dimensionless

IfOTF FIAAIOT FalT F ATFAF & -
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D em-1

2) g1

3) JK=Tmol ~1
4) TgARI

Ques # :106

The Energy levels of a particle of mass m in a box of length L are -
1) Non-Quantised

2) Quantised

3) Same

4) none of Non-Quantised ,Quantised and Same

L T aTel 91FH H §edAT m a1 ST F IATER & -
D) Atet-arfeed

2) Farfeed

3)W

4) SATT-FdTfeed, Falfeed Ud AT & Y IS 7ET |

Ques # :107

Which metal is present in myoglobin ?

1) Zr

2) Mg

3) Fe

4) Cu
arTafae & Hler @ arg safPya d 2
1) Zr

2) Mg

3) Fe

4) Cu

Ques # :108

The number of pyrrole nucleus/nuclei in Haemoglobin is/are -

1) 2
2) 3
3) 4
4) 1

SR # R A1 Y fFd= F&aT e 2

1) 2
2) 3
3) 4
4) 1
Ques # :109

NH3 molecule belongs to which point group -

1) CE\;
2) Cay
3) Cav
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4) Don

NH3 317] fohe fdeg @Hp & Toafeud b

1) Coy
2) Cay
3) Cay
4) D2n
Ques # :110

Which pairing of molecule and point group is correct ?

D BCls, Coy
2) Ho0 , Cay
) H,S Do
4) CH5Cla, Ty
T # & R 3ro) qu g @o g #1 PTAT FA R -
D) BCls, Coy
2) H,0, Cay
3) H,S, Do
4) CHsClo Ty

Ques # :111

The pointgroup of Methaneis -

1) Cay
2) Tq
3) D4
4) Dan

#3707 & fieg 9 B -

1) Cq_\,r
2) Ty
3) Dy
4) D3h
Ques # :112

The Stokes - Einstein equation is -

D RT
6xnrN,
2)
D= R6mnrN,
T
3)

file:///C:/Users/DIPLMain/Desktop/RPSC-June/2-Development/10-ExResult/bin/data/102-Chemistry-ll/sesspack/qpimages/QP_102-Chemistry-1l.html 35/48



30/06/2016 College Lecturer Exam - Chemistry-II

RT
D:
6xnr
4)
KT
D=—""_
7
TIFH HSoHCIST GHIRIT § -
) RT
6xnrN,
2
) D:fﬁﬁm}rﬂﬁ
T
3)  RT
6nr
4)
KT
D=_—_
-
Ques # :113

Huekel's rule states that a conjugated polymethine will be aromatic , if it contains -

D) (4n+2)m - elecirons
2) (4n+2 1) — electrons

3) (47 +2n ) — electrons
4) (2n+2)1T — electrons

EGF & I Y HTUROM F HTAR FugaA Neifrymger Wafes g, afey e 2 -
D (4n+2) - seaeiem
2) (4n+2 M) - SOFClT
3) (47T +2n ) — SerECd
4) (2n+2)TT — Soiaeled

Ques # :114

1,6 -Dicarboxylic acids on heating with acetic anhydride give -
1) cyclic ketones

2) cyclic anhydride

3) carbon suboxide

4) ketene

1,6 - STSHIETFA T 3Fal HY FMREF TAESIISS & 1Y 31 A W IATE -
D) s et

2) T TAETSSISS

3) srreeT G 3iTaTSS

1) FréeT

Ques # :115

Proteins on acidic or enzymatic hydrolysis give -
1) D-Amino acids

2) L- Amino acids
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3) DL-Amino acids
4) (+) - Amino acids

AT IFAT AT ToaATSHY Tl e G ST & -
1) p-ofaa e

2) L- QA=Y 375

3) DL-UTASY 31FcT

4) (+) - Of R 31T

Ques # :116

Which of the following complexes is likely to show optical isomerism ?
D Trans—[ Co(NH3)4Cl]

2) [Cr(Ho0)s F*

3) Cis-[Co(NH;z)s(en); ]

4) Trans—[ Co(NH3)z(en); ]

AR 3 & e Tt GART ey WAl St et Y e 2
D Trans—[ Co(NH3)4Cl5 ]

2) [Cr(Hz0)s F*

3) Cis—[Co(NH3)(en)s ]

4) Trans-[ Co(NHz)z(en)sz]

Ques # :117

Which of the following is prussian blue ?
D Ky Fell [Fell(CN)g]

) K Fell [Fell(CN)g]

3) Ky [Fe'l(c)g)

D Ka [Fe(CN)g)

renfaf@a & wla g se 8 2
D Ky Fell[Fellicng]
2) Krell[FellicNyg]

3) Kq[Fell(CN)g]
4) Ka [Felll(cN)g]

Ques # :118

If the ratio of viscosity of polymer solution to that of the viscosity of the solvent be 1.102 at a polymer
concentration of 2.0 g/L, calculate the intrinsic viscosity for determining the molecular weight of the polymer.

D 2204 g

2) 0.051 Lg!

3 180Lg"

Y 110Lg?

file:///C:/Users/DIPLMain/Desktop/RPSC-June/2-Development/10-ExResult/bin/data/102-Chemistry-ll/sesspack/qpimages/QP_102-Chemistry-1l.html 37/48



30/06/2016 College Lecturer Exam - Chemistry-II

U faeraer # agers Y Higdl 2.0 TH Ui e § | 50 qgod RAerae r fawpifaar va e
ﬁw@mmml.wzaaﬁaﬁwﬁm(mwmaﬂmmmﬁ%_

D 2204 g

2) 0.051 Lg

3) 1801 g

Y 110LgT

Ques # :119

Which of the following molecular partition function is equal to statistical weight, g ?
1) Translation

2) Rotational

3) Vibrational

4) Electronic

srenfaf@a & wlqar e vaa TIfETHT R g F AT 89 ?
D) wemeiad=

2) gt

3) shuet

4) soracifas

Ques # :120

Assuming degeneracy to be unity , the ratio of number of molecules having energy 3.0 KT and 2.0 kT is -
1) e

2) o
3) 15
4) 0.65

A IrqarSeaT 1 AT $H7S 81 A 3.0 kT TF 2.0 KT FHA: 3T aTer LT Y HEATIHT T 39T grom

1) e

2) @t
3) 1.5
4) 0.65

Ques # :121

In how many different ways can six distinguishable molecules be placed in three different energy levels with
three molecules in the first, two in the second and one in the third , ignoring any requirement of energy ?

) 10
2) 3

3) 30
4) 60

Ftt Y el srareasar FY AT A, &: feter sropat A frae RAfdes adier @ i o wi

TG ST el & IS wa 3 elter 370, gfareiier 3 &Y 3roy 3R et 3F o 3707 T S gy
) 10

2) 3
3) 30
4 60
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Ques # :122

The operator d/dx operates on two functions:
(A) e

(B) Sin ax.

Which of the following statements is comect ?

1) Both A and B are eigen functions
2) None of A and B is eigen function
3) A is eigen function B is not

4) B is eigen function A is not

TaRaE didx Hear

(A) e

(B) Sin ax

9 fdT aaT & af SiaaT ST T ¢ ?
1) 2xt A TF B ST ot &

2) gt 3 IS ofY 3N oleT AT &

3) AU ST BT &, BAST &

4) B U INSAT FolT &, A AST &

Ques # :123

The expectation value of the distance of an electron from the nucleus in the ground state of the hydrogen atom

is equal to -

1) g

2

)3a
2 I:I

3)ﬂ|:]f'f4

4) lf'fﬂ[j

foFeTaa 3raEUT & FTEFISIeT IHATV] H FATIT Y A1fNF & G FT TATIT AT ¢ ;-

1) ﬂ[j

2) 3
— |
3

3) a[:]f‘llq'

4) lf'fﬂD

Ques # :124

Which ofthe following molecules belongs to the same

symmetry group as NHs .

D BF3
2) CHg
3) CH30H
Y CHCl3
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senferfad A i o 3¢ aafad T
&7 & TorEdr NHy § 2

1) BF3
2) CHy
3) CH30H
4) CHCl3
Ques # :125

When a substance A was exposed to light, 0.002 mole
of it reacted in 20 minutes. In the same time A absorbed

6.02x1 DE photons of light per second. Calculate the

quantum yield of the reaction (Avogadro number = 6.02x1 DEEJ -

D 1x1013

2) 166x1011
3) 1.2x10°1°
4) 1.20x1016

T gerel A O 9T S 9T 0.002  Hie 92t 20

foree & firar o 747 | € @ET F A o 6.02x10°
wield 9fd s g e | ugrel & Fareq afsyr &1 &1

T 29T | (T & 3maemEr §Ea = 6.02x105) -

1) 1x1013
2) 166x1011
3) 1.2x10°19
4) 120x1016
Ques # :126

Absorbed wavelengths in atomic absorption spectrum appear as -
1) dark background

2) dark lines

3) light background

4) light lines

WA aeiyor Feed F saaflia airded fra v & REg g g 2
D el el o

2) arg gy Pl Y

) TR qess

4) gemrfRIT Y@

Ques # :127

Lines, which appear in absorption and emission spectra of a substance, have wavelengths which are -
1) Same
2) Different
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3) Very different
4) Far apart

et T ugTed & TAMVT U IcHolA ThaeH A fa@rs uset arelt I@m3it iy aerded -
D) gt giehr ¢

2) Pt gl §

3) S e e greh &

4)Uas§a‘%ﬂa§am2§rq'\ra’rcﬁ%

Ques # :128

Background in atomic absorption spectrum is -
1) Bright

2) Dark

3) Brown

4) Purple

QAT Jraeiyor FaeH A gosfA a1 ¥ -
D) g

2) 1t

3) oty

4) ooty

Ques # :129

Which of the following physical changes is measured by TGA ?
1) Mass loss

2) Deformations and dimension

3) Heat difference

4) Temperature difference

& St v srewre g srafaf@a F sl sitfas aRads arar srar @ 2
D) gegreT e

2) f® YT UF HTATH

3) FEAT- 3N

4) d19 - 3R

Ques # :130

With regard to thermal analysis a student made two statements A and B : (A) The differential temperature is
plotted against time to obtain DTA curve. (B) The differential temperature is plotted against temperature to
obtain thermogram. Select the correct answer

1) Both A and B are false
2) A is true but B is false
3) B is true but A is false
4) Both A and B are true

ardier faaryor & ey v Rt/ 737 - (A) DTA - 3% rod F3 3 Faord) ara &1 a7 & amda
3G FIA § | (B) IATATH T1od F=1 &7 A9 a1 &7 a1 & ArdeT 3T FI § | W Il § -
DaatAta B 3rmca g

2) AGCT & AT B 3T ®

3) BETE fdhet A 30T ¥
4)
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AATATIBETE

Ques # :131

Which of the following technique is based on the measurement of temperature difference?
1) Thermogravimetric analysis (TGA)

2) Differential thermal analysis (DTA)

3) Differential scanning calorimetry (DSC)

4) Thermo mechanical analysis (TMA)

eNfATRT & Sl qaelts, a9 F a7 F AT ) A 2
D) ara siRTcHs e (@ i o)

2) fEY ardir fageorEén)

3) FaNEY aaeTr FAd A Srea)

4) qra Tifye e @vaT)

Ques # :132

The incorrect statement regarding chain -growth polymerization is -
1) Same single step is repeated throughout reaction process.
2) Some monomer remains even at long reaction times .

3) Molar mass of backbone chain increases rapidly at early stage and remains approximately the same throughout
the polymerization .

4) Initiator is required.

ST g TEAHIOT F T F IJHT FUA§ -

1) qut rffrar ushet 3 veh & (A1) U SRR 31T § |

2) TR & o THT F B & TG 3 TS Tholdh AV I AT &

3) Ao T IR a3t 7 AEer - 4 F1 AR Sea N dofl § S6T & Ta T agelior
ST HATA TG § |

4) AT I HFeTFAT AT

Ques # :133

A polymer is made from the monomers terephthalic acid and ethylene glycol, with the latter being in excess.
The polymer obtained would have;-

1) Carboxylic group at one end and hydroxyl group at the other end
2) Carboxylic groups at both the ends

3) Hydroxyl groups at the both ends

4) Carboxylic group at one end and ester group at the other end

mmwmmm@wwmm%mmmﬁ
AT Y e § | & gred agersd F R & d9 F g Fya Faarg -

D) wreffeafos weg ve Ry @ oo srsgiferas a9g g R

2) gt T R hrelfferatern aog

3) BATRRT R EERFae T

4w Ry R reffrafos va gay Ry o e J9g -

Ques # :134

Among the following four methods - A. NMR spectroscopy B. IR spectroscopy C.Mass spectroscopy
D.Titration. End group analysis is performed by -
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1) By A only
2) By B only
3) By A, B and C only
4) By all of A, B, C and D

senfaf@d ar RfEAT & : A. NMR WFAHY B. IR - TEFEREAT C. geqaATeT Taaen A D.
ITATIS e g TILeor & qAeT FIA ¢ -

D) sraer A

2) el B

3) &aer A, B Td C g@RT

4) gafy A, B, C Td D &@RT

Ques # :135

Polystyrene, polyacrylonitrile and poly(vinyl chloride) prepared normally are -
1) Mostly atactic

2) Mostly isotactic

3) Mostly syndiotactic

4) a 1:1 mixture of isotactic and syndiotactic

A A & diefiresia Deivhiaasersd aur gl @i FaREs) a9 & FI937 77 gred
glaT e -

D) 31w vefaes

2) 3R JTsER Fes

3) siftrerer Rz e

4) nzareiFes vd RAfTzAR Fesw & 1:1 AT

Ques # :136

The catalyst for anionic polymerization is not -
1) sodium in liquid ammonia

2) alkali metal alkyls

3) Grignard reagents

4) boron trifluoride and water

D) gg st afzas

2) a1 g3 & ufewd

3) AR S

4) IR CEFINTSS TS el

Ques # :137

Find the point group for tetracarbonylnickel(0) .

D,
) 1,

3) Dsg
Y Con

g () F1 Reg aAg & -
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1) Cov
2) Td

3)  Dsg
4) Con
Ques # :138

Determine the point group for Skg -

2) TEI
3) Don
4) Cov

SFg oI fdeg, Teg AT HIT -

1) On
2) Tg
3) Dah
4) Cav
Ques # :139

What is the main result of adding surfactants into a liquid composed of two immiscible phases such as oil and
water ?

1) Reduction in the interfacial tension between the phases
2) Increase in the interfacial tension between the phases
3) Catalysis of the reaction between two phases

4) No effect

&Y JrfAvsrofier yrawe3it, T4 A TIH ST, A T 59 A T56 WHAS Ao F1 9@ v e § -
D) graensit & A RIS aaTd 7 HAT

2) graEaT3it & FET IHRTYSET ot # iy

3) &Y uraEAT3i F FET JTRRFAT T ISROT

4) Y geTTa e

Ques # :140

Among the electrolytes: Nas 504, CaCls, Al2(504)3

and NH4Cl, the most effective coagulating agent

for negatively charged Sbo53solis -

) Nas S0y
2) CaClsy

D Ap(SOg)
4) NH4CI
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ROMARId SbpS3 T & Tehee &d fdegd - 3agedn
Nas;SQy4, CaCls, Al2(S04)s Ta NH4Cl, & Tarfes

THTA Thed b
1) NasS0y4
2) CaCls
3) Al3(SO4)3
4) NH4CI
Ques # :141

Among the following , the surfactant that will form micelles in aqueous solution at the lowest molar

concentration at ambient conditon is -
1) CH3(CH2)45N*(CH3)3Br

2) CH3(CH2)110S03 Na™

3) CH3(CH2)gCOO Na™

4) CH3(CH2)14N*(CH3)3Br

afaer gemat 7 srenfaf@a # wlaar oo wfras et Regs # =gaas Aex wigar © A

AT ?

1) CH3(CH2)45N"(CH3)3Br
2) CH3(CH2)110S03 Na™
3) CH3(CH2)gCO0O Na*

4) CH3(CH2)11N"(CH3)3Br

Ques # :142

Which of the following properties increases abruptly when micelles are formed ?

1) Conductivity

2) Surface tension
3) Osmotic pressure
4) Self-Diffusion

forde oot o srefaf@ra ot F Flerar weaT Ig STATE -
1) <reramar

2) qes g

3) WrERoT g

1) Fa-faaxor

Ques # :143

Which of the following factors causes CMC to increase ?

1) An increase in the number of carbon atoms in the hydrophobic tails.

2) The additon of electrolyte to ionic surfactants.
3) The existence of polar organic compounds.
4) Hydrophilic groups placed in the surfactant molecule centre.

Irenfaf@a sret 7 wiaar @ 7 gfg Fam 2
D) Srafatied geo #F @e ATt fr sear 7 gy
2) 3l gv5 Hiharent 7 qEad rvEet AT
3) grdrr srdfares et i sufafa
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4) STt HHgh #r g5 Atk 0] & g 7 3ufeuta
Ques # :144

Find My, for polypropene, given its degree of
polymerization(DP)as 10,000

D 42105
2) 28 %100
3) 42

4) 42 %1010

qﬁsﬁﬁtﬁaﬁ&gﬁ%‘mﬁm{ﬁ} 10,000
g df sEHT My, ATd &3]

1) 42 % 10°
2) 28 %109
3) 42
4) 42 %1010
Ques # :145

Accordingto STIRLING approximation the
value of term: InN! s given by -

Din NI = InN(N-D)N2) 3.2, 1
2) In Nl =NInN-N

3 In N! =in NN

Yin N =In N=NI

Tefelar Hieades & 3R In Nlar &7 § -
D in NI = InNN-1)N-2) 3,2, 1

2) In Nl =NInN-N

3) In N! =in NN

Y In NI =1n N=NI

Ques # :146

Term Symbol for Na is -
D3

S
2) 2

3) 5
4)

NadTeH RFaa g -
1) 3q
1

2)

file:///C:/Users/DIPLMain/Desktop/RPSC-June/2-Development/10-ExResult/bin/data/102-Chemistry-ll/sesspack/qpimages/QP_102-Chemistry-1l.html 46/48



30/06/2016 College Lecturer Exam - Chemistry-II

Ques # :147
Pick up the planar molecule -
1) NH3

2) N(CHa3)3

3) NF3

4) N(SiH3)3

THAAT 0] T T4 I -
1) NH3

2) N(CHs3)s
3) NFs
4) N(SiH3)s

Ques # :148

The strongest conjugate base is -
1) Y-

2) CH3CO0

3) 50,2

NN 05

aeTaH HYIAT &R § -
D K

2) CH3COO-

3) 5042_

4) NO5

Ques # :149

Identify the type of isomerism present in nitropentaamminechromium(I1I).
1) Optical isomeresim

2) Linkage

3) Ionization

4) Polymerization

ArgsereNF AR RIAI) F Hia @ FHRTGITaT =i STt § 2
D) vl gdATa@@ar

2) gerar

3) rgereT

4) g eTRIROT
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Ques # :150

Benzene diazonium sulphate on treatment with ethanol and copper powder gives -
1) Benzene

2) Phenol

3) Chlorobenzene

4) Diphenyl

3= sTETSfATe et Y TAHTT TUT FI9T 3T & T e W aTaT ¥ -
D) dehet

2) Rpairer

3) FRideser

1) grehiae
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